Linear equations

	SECTION A

1.
a + 9 = 11

2. 
y + 6 = 18

3. 
c - 2 = 5

4. y – 11 = 16

5.  
x – 5 = 0

6. 
c = 10

7.  
4a = 24

8.  
5y = 60

9. 
7z = 49

10. 
c/8 = 3
	SECTION B

1. 
5m+2=47              

2. 
4n+20=48   

3. 
5p–3=37                

4. 
5x+2=22   

5. 
6x–1=11                 

6. 
5y–2=18      

7. 
3x+1=7                  

8. 
2p–5=7     

9. 
7h–8=27               

10. 
12e+13=133   
	SECTION C

1. 
4x+3=3x+7                 

2.
2y–3=y+2                 

3. 
5n+2=3n+6                

4.
4m+7=m+19 

5.
2x+3=x+8                   

6.
5y+8=7y–6              

7.
11x+3=5x+21             

8.
8n=3=3n–12 

9.
4y+1=2y–5                

10.
5x–1=2x–7    

	SECTION D

1.
4(x+1)=40              

2.
2(y–3)=8   

3.
6(x–1)=18               

4.
3(x+1)=15   

5.
7(d+5)=91   


	SECTION E

1.
2(y+3)=y+11       

2.
5(x+2)=3x+16   

3.
4(2x+1)=7x–3      

4.
5(3n+1)=12n+14  

5.
3(2y–1)=y        


	


SECTION F

Construct, and then solve, an equation for each situation given below:

1.
Think of a number. Subtract 9. The result is 25. What is the number?

2. Think of a number. Multiply it by 5, then add 12. The result is 52. What is the number?

3.
A number is trebled and added to 11. The result is 50. What is the number?

4.
The three angles in a triangle are c, c+20 and c+40. Find c.
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5.
A number added to twice the number gives an answer of 24. What is the number?

6.
Three consecutive numbers added together make 48. What are they?
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